My De

Importance of information theory: -

1. it is used for mathematical analysis and data analysis of digital communication system.

2. This theory is used for calculating the amount of informal -to represent a message (or) carrier symbol

3. The amount of information can be calculated by the

Probability of message (or) symbol i.e., P(xi)

Information theory is necessary for analysis of digital datar and colculation of amount of information to repres

a message (01) symbol.

A Information (08) amount of information: -

the amount of information can be calculated interms of bits the information is always indirectly proportional to Probability of parlicular Event.

It can be defined as calculation of total no of bits required to represent a message (oi) Event

Let us consider the communication system tronsmit messages milma, m3. .. mk with probability occurrence of Pi. P3. PK. the amount of information theory transmitted to the messages ink with the probability of PK is given as

IK= logo PK Bils

Here we can represent amount of information in 3 measurments.

IK = 1092 PK Bits (01) Binits

IK = loge PK Nats

IK = log10 PK Decits

In our information theory we preferred first notation to Calculate amount of information carried by message which is mothernatically convinient method to represent The information interms of bits.

Properties of information :-

1. The information is always indirectly proportional to probability when p=0 The amount of information is infinity bits and when P=1 the amount of information is 1' bits

2. if there are 'm' equally independent symbols then the amount of information is carried by each symbol is

IK = N bits con 'n' bils whole M=2?

3. if 'M' no of symbols are possible then the Possible Probability of each symbol is in . The amount of information is expressed as IK = log_ PK IK = 1092 -

IK = log_M

4. If the receiver knows the information theory being transmitted (01) if the Event is sure then the information is carried by message is o'. we know that the amount of information is consie

by a message is given by IK = log PK

According to the statement the Event's sure PK = 1 sub PK = 1 $I_k = 1092^{\frac{1}{2}} = 1092^{\frac{1}{2}} = 0$

IK=0

If information I, Carried by a message mi and Is information is carried by a message me, the overall information carried by both messages. is given as

I [Icmima] = I(mi) + Icma)

I cmi) is the information Carried by a message mi then Icmi) = log Frms Ily Icms) = logo Pemas)

Here mi m2 are independent messages therefore the overall (message) information carried by

miand my can be return as Icmima) = log Pemi) Pema)

= loga Permy + loga Perma)

I (m1m2) = I(m1) + I(m2)

I(m, m) = I(m) + I(m)

5 The amount of information and the probability Volues on always a positive integer value.

Average Information (a) Entropy: -

It is defined as the ratio of between total amount of information to total no of messages the average information rate is necessary for all types of digital Electionics to calculate used space and free space from the total 3-torage capacity.

this calculation is important to store the digital

data in the memory devices.

Entropy = total amount of information total no of messages.

it is expressed as Bits/symbol.

Expression for avg information (01) Entropy :-

Consider a source Emits in different messages

the messages are my, m2, m3...mm with the

Probabilities of PIP2, P3...Pm. If the messages.

are produced from in a single source and which are

available in sequence, that sequence is indicated

Dith NOTE then the probabilities of Each messages

given as

we know that amount of information in the first message mm = PmL is given as I1= log Pi there are PIL no of messages of 'm' message are -fransmitted then the total information carried by mi messages is given as I (total) = PIL log PI lly To Ctotal) = Pal 1092 I3 (total) = P3L 1092 P3 Im (total) = PML logo Pm I (total) = PIL log_PI + BL log_Pa + ... + Pm L log_Pm W.K.T H(x) = 1(total) His = A(P1 logo P1 + Pologo Po + 1. . . + Pmlogo Pm) H(1) = P1 log_2 P1 + P2 log_2 P2 + ... + Pm log_2 Pm Ha) = E PK log, PK Bits symbols $H(x) = -\frac{m}{\xi} P_{K} \log_{2} P_{K}$ Bils symbols

properties of Entropy 1. The Entropy is always a positive integer value 2. The avg information is always less than to total amount of information which is expressed as H(x) < I (total) 3. If the Event is sure (or) the event is impossible then the Entropy of such event is Zero PK=1 > Event is sure PK-0 -> Event is impossible - Proof wKT H= PK log PK PK=0 = 11992 H= PK log2 PK when [PK=] H = 0 log2 4. Consider a source émits 'm' no of symbols con messges if all m' messages are Equally probable and that have some probability in then the Entropy of such Event is $H = log \frac{m}{2}$ Fraf. w. K. T $H = \mathcal{E}_{K=1}^{M=m} P_K log_2 P_K P = \frac{1}{m}$ H = P1 log = + 12 log2 + + P3 log2 + ... + Pm log2 +m Pi= P2 = Pm = 10 #= - log2 m + - 1092 m + - 1092 m + ... + - 1092 m H= in n log2 1 [H= 10g m] is proved;

ormation rate: (R)

The no. of bits transmitted per second is usually called as information rate which is calculated by taking the Product of symbol rate and Entropy.

R= symbol rate(r)X Entropy (H)

symbol rate = No of symbols transmitted per second

R = symbols sec. X Bits symbols

What he unit for information rate is Bits/sec

Prove that 05 Hmax 5 log m

Proof: To prove the above property we will use the follows. property of natural logarithm In XXX-1 for 2>0 let us consider any two probability distributions ? P. Pz...Pm and {q1,q2 - . . qm} on the alphabet x = {x11x2 - . 2my of the discrete memory less source. then let us consider the

term & PK log PK this term can also written as & Pk log 10 Pk.

K=1 log 10

multiply the Riths by loge and
rearrange terms as follows.

E' PK 10g2 9K + E'' PK 10g. PK < 0
K=1 E PK loga PK < - E PK log, 9k E PK 1092 PK 5 E PK 1092 WK $\sum_{k=1}^{m} P_k \log_2 \frac{1}{P^k} \leq \sum_{k=1}^{m} P_k \log_2 m$ Empk log_ Pk < log_m Empk K=1 Pk log_ Pk < log_m Empk EK=1 PK=1 Then The above equiberorms) E PK 109 PK 1092 The L.H.s of above Equation is Entropy H(x) with arbitary probability distribution t(x) < log 2 -this is the Proof of upperbound on entropy and max Value of Entropy is H (x) = log m we know that H(x) is non-negative thence lower boun on tax) will be 'o' in it is proved that upper boun on H(x) is logm. OS H(1) < log_m Above Equation gives lower & upper bound on 11(1), Here m' is the no-of message Emitted by the source Channel matrix Representation:

it is used to define the properties of output symbols and channel capacity and this calculation is very important to know the olp symbol probability.

there are two information sources

1. Discrete memory source Discrete memorgless Source.

Discrete memory Source:

These source generales the olp, which depends upon past output and present ip to store the post output value there is a need of memory device which source is called Discrete memory source.

Discrete memory less source:

In this operation the source ofp is purely depends on present input of the source, that there is no need of any memory device. this source generated messages are called "Discrete messages" which is mainly prefable types of degital communications. the Channel matrix Representation for discretememoryless source

 $\frac{3i}{x_3}$ $\frac{1}{4x}$ $\frac{1}{4x}$ $\frac{3i}{4x}$ $\frac{3i}{4x}$

the ilp x' consists of x, x2, x3... xm. The probability of ilp symbols are assumed pexi) the olp y'consists of y1142143 In with the probability of p(y;), then the transition Probability of channel is denoted by P(xi)

The channel transition probability matrix is given as

$$P\left[\begin{array}{c} y_{x} \\ y_{y} \end{array}\right] = \begin{bmatrix} P\left(\frac{y_{1}}{x_{1}}\right) & P\left(\frac{y_{2}}{x_{1}}\right) & P\left(\frac{y_{3}}{x_{1}}\right) & P\left(\frac{y_{m}}{x_{1}}\right) \\ P\left(\frac{y_{1}}{x_{1}}\right) & P\left(\frac{y_{2}}{x_{2}}\right) & P\left(\frac{y_{2}}{x_{2}}\right) & P\left(\frac{y_{m}}{x_{2}}\right) \\ P\left(\frac{y_{1}}{y_{1}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{m}}{y_{m}}\right) \\ P\left(\frac{y_{1}}{y_{1}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{m}}{y_{m}}\right) \\ P\left(\frac{y_{1}}{y_{1}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{m}}{y_{m}}\right) \\ P\left(\frac{y_{1}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{m}}{y_{m}}\right) \\ P\left(\frac{y_{1}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{m}}{y_{2}}\right) \\ P\left(\frac{y_{1}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) \\ P\left(\frac{y_{1}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) \\ P\left(\frac{y_{2}}{y_{2}}\right) P\left(\frac{y_{2}}{y_{2}}\right) & P\left(\frac{y_{2}}{y_{2}}\right) \\ P\left(\frac{y_{2}}{y$$

the matrix P(4) is also called as "channel matrix" Here Each input to the channel results in some output in each row of channel motific is '1'.

the ilp symbol probability p(x) is represented by a row matrix which is given as.

[P(x)] = [P(x)] P(x) P(x)

the olp symbols probability is represented by a row matrix which is given as

[P(4)] = [P(41) P(42) P(43) ... P(4m)],

Conditional probability (0) Transition probability:

the ilp symbol probability p(x) and the oppsymbol probabi, Pry) are related to conditional probability.

According to probability theory .pcA), PCB)

12

Deterministic channel: -

In this channel matrix Each row should contain on non-Zero Element then that porticular transition channel is called Deferministic channel.

· 21 -> 71 22 7, 42 x3 7.43

this channel should be lossless and deterministic Noiseless channel: Channel that means Every row and column should conta one non-zero Elements then the transition channel is call Noiseless channel"

$$-P\left(\frac{y}{x}\right) = \begin{bmatrix} 100 \\ 010 \\ 001 \end{bmatrix}$$
Transition diagram
$$x_1 \rightarrow y_1$$

x -> 1/2 23 -> 43

Binary Symmetric channel: it contains two input symbols and two output syml A binary symmetric channels = = 0 = 1 and two outputs y=0 and y== 1 this channel is symmetric. In the second case if the ilp probability is 'o' but the output probability will be '1' and if the input

probability '1' and output probability is '0' -this channel

called Binary symmetric channel

P[Y] = [x1-p]

Transition diagram

| x | y | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

| x | y | 0

|

Conditional Entropy:-

Conditional Entropy is also called " Equipocation conditional Entropy".

H(x) represents uncertainity of x, on average y' is known.

Ily H(x) represents uncertainity of y, on avg x' is known. Gransmitted)

Conditional Entropy indicates the information lost across the

noisy chamel.

mathematically Equation H (x) and H(x) are as follows:

Marginal and conditional Entropies and Redundancy

the conditional Entropy and Joint Entropy are used to

calculate average information rate in multiple ilp source to

multiple olp source.

Here the ilp symbol (x), probability is P(xi) and the olp symbol cy), Probability is P(xi)

the joint probability of source is plainy)

the conditional probability of source p(xi), p(yi)

if we add all joint probabilities for fixed y; we get

It we add all joint probabilities for fixed y; we get $P(Y) = \sum_{i=1}^{m} P(x_{i}, y_{i})$

Ily if we add all joint probabilities for fixed xi we get

P(xi) = E P(xi, yi)

Joint Entropy:

The joint Entropy represents "Entropy of joint occurrence of two or more Events".

 $H(x,y) = H(y,x) = \mathop{\mathcal{E}}_{i=j} \mathop{\mathcal{E}}_{j=i} \operatorname{P(}x_i,y_i) \log_{2} \frac{\overline{P(}x_i,y_i)}{P(}x_i,y_i)$

HEX, Y) represents entropy of joint occurance of x and y;

Marginal Entropy: -

when the entropy of individual (Elements) Event is evalual

from joint probabilities Entropy of the Events

if the joint occurance of a and y; Equation

P(yj) = E p(xi, yj) and equ p(xi) = E p(xi, yi)

The probabilities of occurance pai) and plyi)

the entropies of ai and yi

i-e H(z) = Em P(zi)

Putting for plai) from equation

H(x) =
$$\mathcal{E}$$
 (\mathcal{E} P(zi, yi))

| Jy H(y) = \mathcal{E} P(xi, yi) |

| Putting for P(yi) = \mathcal{E} P(xi, yi) |

| H(y) = \mathcal{E} (\mathcal{E} P(xi, yi))

| Enhopies H(x) and H(y) are colled "Marginal Enhapy"

| Proof: Consider Equation | P(x) + H(x) |

| H(x, y) = H(x) + H(x) |

| H(x, y) = \mathcal{E} P(xi, yi) log₀ P(zi, yi) |

| = - \mathcal{E} \mathcal{E} P(xi, yi) log₀ P(zi, yi) |

| From Probability theory we get |

| P(AB) = P(A) P(B) |

| P(xi, yi) = P($\frac{xi}{yi}$) P(yi) |

| Putting this result in log₂ term equal H(x, y) = - \mathcal{E} \mathcal{E} P(xi, yi) log₃ P(xi, yi) |

| H(x, y) = - \mathcal{E} \mathcal{E} P(xi, yi) log₃ P($\frac{xi}{yi}$) - \mathcal{E} \mathcal{E} P(xi, yi) |

| H(x, y) = - \mathcal{E} \mathcal{E} P(xi, yi) log₃ P($\frac{xi}{yi}$) - \mathcal{E} \mathcal{E} P(xi, yi) log₄ P(yi) |

| H(x, y) = - \mathcal{E} \mathcal{E} P(xi, yi) log₅ P($\frac{xi}{yi}$) - \mathcal{E} \mathcal{E} P(xi, yi) log₆ P(yi) |

| H(x, y) = - \mathcal{E} \mathcal{E} P(xi, yi) log₅ P($\frac{xi}{yi}$) - \mathcal{E} \mathcal{E} P(xi, yi) log₆ P(yi) |

| H(x, y) = - \mathcal{E} \mathcal{E} P(xi, yi) log₅ P($\frac{xi}{yi}$) - \mathcal{E} \mathcal{E} P(xi, yi) log₆ P(yi) |

| H(x, y) = - \mathcal{E} \mathcal{E} P(xi, yi) log₅ P($\frac{xi}{yi}$) - \mathcal{E} \mathcal{E} P(xi, yi) log₆ P(yi) |

H(x,y) = & & p(xi,yi) loga P(zi) - & & & p(xi,yi) & loga P(yi) Second lesm first tem Here first term represents $H(\frac{x}{y}) = \mathcal{E} \mathcal{E} p(x_i, y_i) l g_2 \frac{1}{P(x_i, y_i)}$ Second term represents P(y;) = E P(xi, yi) $H(x,y) = H(\frac{x}{y}) - \frac{\varepsilon}{i-1} P(y_i) \log_2 P(y_i)$ $H(x,y) = H(\frac{x}{y}) + \frac{e^{m}}{1} P(y_{i}) \log_{2} \frac{1}{P(y_{i})}$ $H(X/Y) = H(\frac{X}{Y}) + H(Y)$ As per defination of Entropy second term in above Equis H(y) = E P(yi) log 2 P(yi) H.CXIY) = H(x) + HCY) Hance proved P(xi, yi) = P(-yi) P(xi) putting this result in log2 term Equation H(x,y) = -E' E' p(xi,yi) log_ p(xi,yi) = - E E P(zi, yi) log2 [P(yi) P(zi)] = .Em Em pcai, y;) log, P(yi) - Em Em pcai, y;) log, f H(X,Y)= E E P(xi,yi) log_ P(yi) - E'SE' P(xi,yi) log_ P -fist term

As per Equithe first term of above Equis

H(x) = Em Em p(xi, yi) log 2 P(yi)

1=1 j=1

Second term in the above q is $p(x_i) = \sum_{j=1}^{\infty} p(x_i, y_j)$

 $H(xy) = H(\frac{y}{x}) - \mathcal{E}^{n} P(x_i) \log_{p} P(x_i)$

 $H(XY) = H(\frac{Y}{X}) + \frac{e^{m}}{i=1} P(x_i) \log_2 \frac{1}{P(x_i)}$

As per defination of Entropy second term in above equising is $H(X) = \frac{E}{|E|} p(x_1) \log_2 \frac{1}{P(x_1)}$

 $H(x,y) = H(\frac{y}{x}) + H(x)$

Hence proved

Channel capacity of a symmetric (0) uniform:

for a symmetric (or) uniform channel, there are M' no. of output messages and 'N' no. of ilp messages

C=[10g2 M-h] · & bits |sec

where $h = \stackrel{\sim}{\underset{j=1}{\mathcal{E}}} p(\underline{y}i) \log_2 \frac{1}{p(\underline{y}i)}$ for any (i)

Channel capacity using Muragas method:

let us consider the binary channel having channel matrix

let us fam a new equation as follows

Here Q1 and Q2 are two unknown Variables

Above equ is solved for Q1 and Q2, then the capacity is

given as c= 109, 5201,202 & bits/sec

Mutual information: -

it is defined as the amount of information transferred when as is transmitted 'y' is received. it is represented

by I (xijyj) and given as
$$I(x_i,y_i) = \log P(\frac{x_i}{q_i}) \quad bits$$

Average mutual information: [I(X,Y)]

it is defined as the amount of information being gained by receiver if ai transmitted and yi received by the yi what amount of information is gained by receiver can be calculated by any mutual information

$$T(x;y) = \begin{cases} \sum_{i=1}^{n} \sum_{j=1}^{m} P(x_i, y_j) & T(x_i, y_j) \\ \sum_{i=1}^{n} \sum_{j=1}^{m} P(x_i, y_j) & \log \frac{P(x_i, y_j)}{P(x_i, y_j)} \end{cases}$$

$$T(x;y) = \begin{cases} \sum_{i=1}^{n} \sum_{j=1}^{m} P(x_i, y_j) & \log \frac{P(x_i, y_j)}{P(x_i, y_j)} & \log \frac{$$

Pappestics

- I(X; Y) = I(Y; X)
 - a) it can be expressed interms of entropies of channel ilperolly conditionentropies.

3)
$$T(x;y) = H(x) - H(\frac{x}{y})$$

$$T(X;X) = H(Y) - H(\frac{X}{X})$$

- Here $H(\frac{x}{y})$ and $H(\frac{y}{x})$ are conditional entropres
- 4) Mutual information is always positive I(X; Y) > 0
- 5) mutual information is related to joint entropy H(X,Y) by following relation T(X,Y) = H(X) + H(Y) H(X,Y)

proofs
prove mutual information of channel is symmetric, I(x; y)=I(y; x)

let us consider some standard relationships from probability

theory
$$P(xi_1y_1) = P(\underline{xi}) P(y_1)$$

$$P(AB) = P(\frac{A}{B}) P(B) \rightarrow \infty$$

$$P(AB) = P(\frac{B}{A}) P(A) > 0$$

$$P\left(\frac{4i}{3i}\right) P(4i) = P\left(\frac{4i}{3i}\right) P(xi)$$

$$\frac{P(3i)}{P(3i)} = \frac{P(3i)}{P(3i)} \Rightarrow 3$$

The mutual information is given as

$$I(x;y) = I(y;x)$$

$$I(x;y) = \varepsilon \int_{i=1}^{\infty} \varepsilon^{n} P(xi,yj) \log_{2} P(\frac{xj}{yj})$$

$$P(xi)$$

Hence we can write Icy; x) or follows

from eq 3 the above Eq can be written as

2) Prove that mutual information is always positive I(x; y) >0

P(zi/yi) = P(zi/yi)

P(yj)

Pulling above value of P(xi/yi) in eq (1)

$$I(x;y) = \mathcal{E} \mathcal{E} \qquad p(x;y;) \log_2 \frac{p(x;y;j)}{p(x;j)} p(y;j)$$

we know that log2(=) can be written as -log2 (=)

Hence $T(X;Y) = -\frac{E}{i=1} \sum_{j=1}^{m} p(x_j,y_j) \log_2 \frac{p(x_j) p(y_j)}{p(x_j,y_j)} = \frac{E}{p(x_j,y_j)} \sum_{j=1}^{m} \frac{p(x_j,y_j) \log_2 p(x_j,y_j)}{p(x_j,y_j)} = \frac{E}{p(x_j,y_j)} \sum_{j=1}^{m} \frac{p(x_j,y_j)}{p(x_j,y_j)} = \frac{E}{p(x_j,y_j)} \sum_{j=1}^{m} \frac{E}{p(x_j,y_j)} = \frac{E}{p(x_j,y_j)} = \frac{E}{p(x_j,y_j)} = \frac{$ states that E PK log_ [ak] <0/ this result applied to Eq. @ we can consider px be P(xi,4;) then qk be P(xi) yp(yi) Both Pk and qk are two probability distrubitions on same alphabet this eq@ becomes $-I(x;y) \leq 0$ [ICX; Y) ≥0 prove that I(x; y) = H(x)-H(x) $T(y;x) = H(y) - H(\frac{y}{x})$ Proof- $H(\frac{x}{y}) = \underbrace{\mathcal{E}}_{i=1}^{\infty} \underbrace{\mathcal{E}}_{j=1}^{\infty} P(x_i, y_i) \log_2 \underbrace{P(x_i, y_i)}_{y_i} \Rightarrow 0$ Here (x) is the information (on uncerstainity in x ofter y) is received. In other words $H(\frac{x}{y})$ is the information lost in the noisy channel. it is the avg conditional self information $I(X;Y) = \underbrace{\mathcal{E}}_{[z]} \underbrace{\mathcal{E$ let us write the above Equ $T(x;y) = \mathcal{E} \underbrace{\mathcal{E}}_{i=1}^{m} \underbrace{P(xi,y_j)}_{j=1}^{m} \underbrace{\log_2 \frac{1}{P(x_i)} - \mathcal{E}}_{i=1}^{m} \underbrace{\mathcal{E}}_{i=1}^{m} \underbrace{P(x_i,y_j)}_{j=1}^{m} \underbrace{\log_2 \frac{1}{P(x_i)}}_{i=1}^{m}$ from eq (1) above eq can be written as

 $I(x;y) = \begin{cases} \mathcal{E} & (\mathcal{E}) \\ \mathcal{E} & (\mathcal{E}) \end{cases} P(x;y;y) \log_2 \frac{1}{P(x;y)} - H\left(\frac{x}{y}\right)$ the conditional entropy $H\left(\frac{x}{y}\right)$ is $\frac{e}{e}$ $\frac{e$ $I(x;y) = \varepsilon P(x;) \log_2 \frac{1}{P(x;)} - H(\frac{x}{y})$ P(xi) = En P(xi, yi) -Prom equation represents entropy HCX) = E P(xi) log2 PCX I(x; y) = H(x) - H(x/y) I(X; Y) is the avg mutual information transferred per symbol a cross the channel it is equal to source entrop. minus information lost in the noisy channel is given as similarly consider the ovg mutual information is $I(y;x) = \mathcal{E} \stackrel{\mathcal{E}}{\mathcal{E}} p(x_i,y_i) \log_2 \underbrace{p\left(\frac{y_i}{x_i}\right)}_{p(y_i)}$ $= \underbrace{\mathcal{E}}_{[z]} \underbrace{\mathcal{E}}_{[z]$ the conditional entropy $H(\frac{y}{x})$ is given as $H(\frac{y}{x}) = \varepsilon^n \varepsilon^m P(x_i, y_i) \log_2 \frac{1}{P(y_i)}$ $T(\gamma;x) = \mathcal{E}_{j=1}^{\infty} \left(\mathcal{E}_{j=1}^{\infty} P(x_i,y_j) \right) \log_2 \frac{1}{P(y_i)} - H\left(\frac{y}{x}\right)$ $P(y_i) = \mathcal{E}_{i=1}^{\infty} P(x_i,y_j)$ = \mathcal{E} $P(y_i) \log_2 \frac{1}{P(y_i)} - H(\frac{y}{x})$ from equ represents entropy H(x)= & P(yi) log2 P(yi) $I(y) = H(y) - H(\frac{y}{x})$

Prove
$$T(x;y) = H(x) + H(y) - H(x,y)$$

$$\omega \cdot k \cdot \frac{1}{2} H(x;y) = H(\frac{x}{y}) + H(y)$$

$$H(\frac{x}{y}) = H(x,y) - H(y)$$

$$\omega \cdot k \cdot + \mathcal{I}(x;y) = H(x) - H(\frac{x}{y})$$

$$T(x;y) = H(x) - [H(x,y) - H(y)]$$

$$= H(x) - H(x,y) + H(y)$$

$$T(x;y) = H(x) + H(y) - H(x,y)$$

Hence proved